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ur Hypothesis



graph that would set all the data into order.

First we weighed the cars, plotted them,and
we set up a ramp at different heights starting
from one foot all the way to two four foot. We
tested all the cars down the ramp to see which
would go farthest. These are the cars we used
and the weight of them



~The Growler {31g]}

~The Backdrafter {429}

% ~MatchBox {28g}




~K-15 {36g}

Skater punk {319}




The Table



2ft 5ft 7ft 2in oft 7in 5ft 1in 8ft 3in

3ft /ft 6in oft 11in 10ft 5in  8ft 6in 7ft 11in

4ft 6ft1 14ft 5in 17 8ft 10 10ft in



onciusion



Backdrafter went the farthest at 4 feet,
however, the Growler went the farthest at 2
feet. So it turned out that our hypothesis was
wrong but the answers did very! This taught
us that playing with cars, is not alla no
brainer



